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INSTRUCTIONS TO THE CANDIDATES

1. This Question-booklel is printed in English and Hindi languages. Candidates should select any
. ane of the two versions according to their convenisnee.

2. The question paper cantains 100 questions. The examinee should verify that the requisite
sumber of questions are printed in the question paper, otherwisc he should ask for ancther
question paper.

3. All questions are compulsory.

4. All questions carry equal marks.

5. The cover page indicates the number of pages in the question paper. The examines should verify
that the requisite number of pages are attached in the question paper, prherwise he should ask for
another guestion papET.

6. Bead carefully the instructions given on the answer sheet supplicd and indicate your answers
accordingly,

7. Kindly make necessary entries on the anawer sheetonly at the places indicated and nowhere else,

8. Examinees should do all tough work on the space meant for rough work on the last page of the
gquestion paper and nowhere elae, not even on the answer sheet.

8. If thers i& anv sort of migtake either of printing or of factual nature in any gueston, then out of the
Hindi and English versions of Lhe question, the English version will be treated as standard
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of the following words below, a context is
provided. From the given alternatives, pick
the word or phrase that is closest in meaning
in the given context.

1. Consighment Courer companies
guspect someone 18 leaking details of
their consignments leading to thefts.

(A) Goods sent for delivery
{B] Documents
(C} Petrol
(O] Dehvery hoy
2. Hoarded : The government has seized
5000 tonnes of hoarded pulses.
{A)  Hidden or stored away
{By Purchased
[C) O poor quality
(D Imported
3. Marginal : There is a marginal drop in
the growth of companies this guarter.
[A) Large change
[B] Increase
(C] Small change

() Decrease

4, Exhilarated : The monkevs were
exhilaraied al the sight of bananas,
(A} Unhappy
[(B] Sad

(C} Very happy
{O] Aggressive
§. Dismantle : The shops on roadside were
dismantied during widening of the road.
(A} Relocated
(B} Destroved
{C) Vacated
D} Decorated
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following excerpt and answer the guesiions
asked at the end. The answers o the
questions should be based on the excerpt.

In various parts of India, the common people
diaplayed a heroism which was of an
unprecedented character, Thus, while long
processions of unarmed men and women
proceeded in file to take possession of police
stations, thev were fired upon by Indian
constabulary. Scores were shot dead, many
wounded; yet the processions proceeded after
brief interruption. In one case, an old womean
was shot dead after three rounds of fire; and
vet as she died, she held aloft the National
Flag with which she had valuntarily marched
at the head of the file. She had done &0
because she did not want young men fo lay
down their lives while there were people like
her with all their age.

6. Lang processions of unarmed men and
women proceeded in file

[A) to take possession of the National
Flag

{B) to shoot the Indimn constabulary

[C) to take
stations

possession  of  police

(D) to briefly interrupl the processions
. The unarmed men and women were
fired upon by

(&) those who were Tholding the
Nalional Flag aloft

|B) the military
[C] the British

(M the Indian constabulary

[P.T.O.
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8. The word *scores’ in the excerpt means

(M) music

(B} drumbeal

(C) many

(D} procession

8, The old woman
because

laid down her life

{A) she did not realize that the Indian
constabulary will shoot her

{B} she was forced to by her children

[C) she did not want the young to die
while older people of her age wers
alive

[[¥ the procession was interrupted

10. After many were shot dead and

wounded, the processions

{A] stopped immediately

(B} consisted only of older people

{C) consmisted only of leaders and no
Commaon people

[} were resumed after briefl

mterruption

BfAJI1/2016/2-A

DOWNLOADED FROM : WA | ASEXAMPORTAL. COM

Directions (Question MNos. 11 o 15) : Read
the following excerpt and answer the
guestions asked at the end. The answers to
the questions should be based on the excerpt.

Even today, people in the countryside are alive
to the necm's versatile virtues. [t is scldom cut
down and is stll planted in and around
human settlements. Tradition decrees that,
when the Indian new yvear comes round about
midsummer |in April) and the neem bursts
into prodigal, fragrant white blossom, its tiny
Mlowers mixed with jageery should be cooked
inta a special side dish, both as a tonic rclish
to mark the commencement of fresh year, and
to remind people that life is an admixture of
sweel and  bitter experiences. The latter
sentiment seems largely imaginative, for neem
flowers arc not bitler, though the leaves and
fruits are. They have a characteristic resinous
aroma and are mildly astringent.

11. Which of the following statemenis is
true?

(A} The neem fruits, Nowers and leaves
are bitter.

(B} The neem leaves are bitter; the
fruits and flowers are not.

(C} The neem fruits are bitter; the
leaves and flowers are not,

{D) The neem fruits and leaves arc
bitter; the flowers are not.
12. The neem flowers are
(A} fragrant and are vellow in colour
[B] white in colour and are bitter

[C] wery big and have a charactenstic
resinous aroma

[ white and are [agranlt with a
TESINOLS Aroma
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13.

14,

15.

16.

Indian new year comes

(%) during the middle of the summer
(B} at the beginning of the summer
(C} at the end of the summer

(D] any time durning the summer

Neem trees
(&) arc often cul down
(B} are usually cut down

(C) are necessarily cut down during
midsummer

() are rarely cut down

Even today, people in the countryside

{A] are aware of the many good
propertics and uses of neem

(B) are not aware of the many good
properties and uses of neem

(C)] often cut down neem trees

(D) avoid planting neem trees close to
where they hive

Your subordinatc has submitted a
repert to vou, and you find out that
parts of the report are plagiarized. What
will yvou do?

{A] Accept the report as it is

[B) Change the plagiarized parts
voursell without telling the
subordinatle

(C] Tell your suberdinate to make anly
cosmetic changes to the plagiarized
parts

17.

18.

19.

You arc a shopkeeper. One of your

regular cusiomers asks vou to give a bill

for & higher amount than what he paid.

What will you do?

{A] Tell him that you can only give a
bill for the correct amount

(B) Agrec to give the bill if he pays you
a fraction of the excess amount

(C] Tell him vou do not have a receipt
book

(D) Agree to give the bill for higher
amaount

You are working in a car company and
you found that one of the parts in the
engine is nol up to the specifications,
which can lead to more toxic emissions.
Despite  informing  your immediate
superior no action is taken. What will
vou do?

{A] Transfer to a different division

(B) Leak this news o 8 nowspaper
[C) Report to the head of your division
[0 Take no action

You are in a car with your colleague and

you are late for an important meeting.

Your colleaguc wants to jump the next

red light, What will you do?

[A] OMer to check whether a traffic
policeman is present or not

[B)] ‘Tell your friend to abey traffic rules

(C} Tell vour friend to speed up so that
you do not get caught

{D] Tell your friend that it is OK to
jump the signal if there is no traffic
on the road

Your neighbours have cut a lot of trees
in their compotund because they say
that the house is very dark due to the
thick foliage, How will vou handle this?
iA] Ignore it

(B] Fight with the neighbours

(1} Ask vour subardinate to complelely [C1 Repori to the appropriate authorties
rewrite the plagiarized parts in his (D) Plant trees in your compound to
own words compensate

PEAGIf2016/2-A [P T O,
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21. You are a police officer. You hear about

a trouble brewing in veur jurisdiction,
which can become a full-blown et if
immediate action is not taken. What
will you do?

24,

You and twe of your f[riends arc
travelling by train. Your ticket status
is RAC, reservation aguinst
cancellation. When the ticket checker
comes, he agrees to give you three
berths If you give him a bribe. What will

ie,

(A Imform your superors and wait
: . you do?
[B] Take immediate action and inform
¥OUF sUpcnors {A) Agrce to give the bribe since it is a
(C} Decide on the course of aclion lomg journey
purcly based on who will be i ’
affiscted By the: wint (B) Rln:ius.t .I'.u give the bribe and travecl
; sitting in your allotted seats
(3} Wait for the ot to start before
taking action [C}] Forcibly occcupy the berths by
threatening the cccupants
22, You are the warden of a hostel. The
stiudents wanl to have a ‘rain dance’, {D] Call your fricnd whao is an officer in
which will invalve wastage of a lot of the railways to ask the fticket
water al a time when there is drought checker to give wou a herth
everywhere, How will you deal with this anyway, without paying the bribe
situation?
(A} Talk to the students and convinee 25. Find the number when added to itself
them o celebrate without wasting 13 times yields 112.
water
[B] Allow the party because otherwise (A} 8
the students will be unhappy (Bl @
{C} Deny permission without
explaining  the reason to the cy 10
students
e oy 11
(3 Give permission if the siudents
agree 1o pay for a tanker of water
26. How many squarcs are present in the
23, A lady working in your office is being fallowing figure?
harassed by her ex-boyviriend, who s
your colleague. She asks you for advice
or how to deal with this pmbltrn What
will you tell her?
{A] Tell her that you will talk fe yvour
colleagize about this
(B8] Talk te his friends and family and ) 13
ask them to advise the boy
{C} Tell her that she brought it upon B} 14
herself
Ch 13
O} Tell her to report the harassment @
Women's Cell of the organization D) 16
PiaS1f 2016/ 2-A a [P T 0.
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Directions (Question Nos. 30 to 33 : Study
the information given below carefully and
answer the questions.

A B € D E F, G Hand [ are nine houses.
Cis 2 km east of B Ais 1 km north of Band H
is 2 km sputh of A Gis 1 km west of i while
Dis 3 km cast of G and F is 2 km north of G

27.

28.

Mr., Kumar's paternal grandfather has
ane son and no daughter. Mr. Kumar's
daughter has two paternal aunts and
three patcrmal  uncles.  Therefore,
Mr. Kumar's paternal grandfather has
what numbers of granddaughters and
grandsons respectively?

A 23
B 2,4
(c 3, 3
o 4, 2

K, L. Mand N are four persons. K is the
oldest but not the poorest, M i3 the
richest but not the oldest, L is older
than N but not than K or M. K is richer
than L but not than N. The four persons
can be ordercd [ascending), in respect
of age and richness, respectively as

(A) NMLK, LNKM
(B) NLMK, LENM
(C] NLMK, KLNM
(D) LNMK, LENM
A gardencr has made changes 1o

his existing rectangular garden by
decreasing its length by 40% and
increasing its width by 20%. The arca
of the new garden

{A] has decreased by 12%
(B) has decreased by 20%
(C) has decreased by 28%

(D] i= exactly same as the old area

PrAST2016/2-A

11

J is situated just in the middle of & and O

while E is just in the middle of ff and D

30. The distance between E and G is

31.

32.

33.
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[A) 2 km

B 1 km
(€} 15 km

{0} 5 km

The distance between E and [ is

(A) 1 km
B} 2 lkm
€] 3 lam
D) 4 km

The distance between A and F ia

Al 141 km
B 1 km
€] 2 km
D] 3 km

The distance between E and C is
(A} 141 km
By 1 km
[C) 2 km
(D) 145 km

[P.T. 0.
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34, & w srEh = adn § w ol ¥R 37.

el TOE
e CIR| ? :?‘ a ~‘ 0o Q_
I ' |"J[-L L
[ () {C) ]| @TEF!'H?I:I-#I 5
as. fimm v = sk \‘Q |_OJ OJ [: :'
(Al D22R &) (B) 1) 1]
B G29M 38, =4 fan e fag & fe w0l 87
C) T36F
D) v24B
[A) 10
36, fag 1 9 2 % ¥ # = awm w=a o i
T w e T 3 3 4 § =R % fem,
ﬁﬂ4wa‘ﬁlﬁﬁ#’l¢i-wﬁ‘r'ﬂ? c) 13
| = D) 15
D -
e ‘ O = T
B d A 39. 4f PALE & @kd 78635 ® a:ht_ EARTH 1
3 " 5= A i 58432 B, 79 ALERT %1 55 80
(A) B4543
[a = | = = h (B3] 86743
=3 =N S e ™
W (B (c) D) (D) 86453
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34. Choose the correct mirror image of the ar.
following image. i

o1 Q-

(A) IB:I. IC) 4] Which is the missing square?
|
35. Find the odd one out, /-L\I
(&) D22R |
Y (B L& (18]
B S 38. How many sguares are there in the
following figure?

[T} T3oP I —1
D) V2aB |

i g ; Ay 10
36. There is a specific relation between
figures 1 and 2, For establishing Bl 1
the similar relationship between B 11
figures 3 and 4, identily the right one
for figure 4, IC} 12
| o) 15
‘ o ' [o
e O re— ?
| i ‘ A 39, 1 PALE is coded as 7865 and EARTH as
] 58432, then ALERT is coded as
1 2 3 4
(A) B4543
(B] BG6T43
E‘ ‘ iC} B6543
™ (D) 86453
PiA/j2016/2-A 13 [B.T. O
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40. faf FfE e § GODREJ i KFSEPH

41.

41,

For W 31 TR wE ¥ Wl § RED W
e =

(A} EPH
(B] ESF
[C] SFE

[} EFS

wrE "o Eaﬁum#ﬁ-ﬁxﬁiﬁaﬂ

2t ok T R B T WY S ST,

il s TS A wR A A =i
642 9y

(] 99

(Bl 54

Cy 36

(o) o= @ =

i A W B whedem TR W ol

ol

g AT ST g ) T A

I e AR %) WA 8 W R R

jAy T = o =i

A] ks P s T SRS

() Fr = =

[y =fE w0 e e A
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43, Tl T T @ e T T ad e

i £ e W owE B el wiks o
P e § s aw R

() e
(@) TR F A
(C) wEEE T :

|D) TR =

. san WE R9 R HERW W AN

#r =
() sAf
[B) =hawE
(C) FATE

(D) T T A

. A 3 w0 geE

(i) o e ¥ e e
i) éﬁa e TR F TEE|

i) w0 Ae w3 s e

vy T g, e %) Faern o = Fi-un
ZFE) 8 w2 |

[v) T ity 3wl Wi T
* g feerrn

(A () @), (i), [, )
(B ), (@), i), [, 6
(C) (iw), (), (), (i), )

(O (i, ivh, () (i, G
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40. In a coding system, GODREJ is written
as KFSEPH. In such a coding sysiem,
RED will be writlen as

Ay EPH

(B] ESKF

{C) SFE

[ EFS

41, Carcfully observe the pair of numbers
o’ the left part of i1, which has certain
relationship. Using the same relation-
ship, what should be the missing
aumber of the pair on the right side?

G:42:: 037
) 99
B 54
[T} 36

([} Haone of the above

42. In the given context, identify the
meaning of the word ‘constitution”.

"His delicate constitution could not
withstand the high heat and humidity
in Mumbai.”

{A) Physical character of the body

(B] A book or a document

(C) Set of rules

[} Mental makeup of a person

PiAST2016/2-A
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43, In the following senlence, identify the

45,

meaning of the word ‘sharpens’,

“Learning Mathematics sharpens one's
lngical and analytical skilis.”

(A) Makes pointed

{B) Causes fo improve

(C) Makes dull

(] Makes dangerous

Mewspaper should ideally be a medium
of communication of

[A) rumour

{B) parancia

[C) propaganda

D] information and facts

Choose the option indicating the correct
sequence of the following sentenccs.

(i} Add salt to taste.

(il Beil ; kg of potatoes.

(i} Fry onions and add the potatoes.

{ivj Peel the boiled potatoes and chop
them into small pieces.

{vj Heat the oil and add the spices and
onions Lo it

[A) g, (s6), (i), (i), [v)
(B) [, (i), ivh, (e ()
(G fivh, didd (), (33, (v)
(D) (i), (ivh, (), (i), ()

[BT
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47.

48.
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an gl 21

Ay 20
B 45
C) 55

(D) S0

v aETE T e Eie B T S
& Fun # 70 B AW uw e HoFE
P 50 31 Af EW a € 380 = F R, A
a9 T s iEiR T

(Al 2
B 3
< 4
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A B
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(D) 3 e T ) o T
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49,

50.

51.
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e FiE ORI AW @ R R T
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wEn & andl B W 2R W 10 T IE0
zﬁlﬁmmﬂ%amsqﬁmmﬁiﬂﬁaﬁ
il 3, @@ g b wd Wi wEE
) TEEER 8 A Y R A # fEe
¥4 1 wam go 97

A) 15
By 30
) 36
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46.

47.

48,

In a basketball match, all ten players
shake hands with each other once after
the match. How many handshakes will
be there?

(A} 20
{3 45
[C) 55

(D) 90

Shyam buys pineapples and coconuts
A pineapple costs ¥ 70 and a coconut
costs ® 50, If Shyam spends a ftotal
amount of ¥ 380, how many pineapples
does he purchase?

Ay 2
B 3
[y 4

(D] Data is insufficient

In the pasi, consumers would rarely
walk into an ice cream store and order
low-fat ice cream. But that is not the
case tioday. An increasing health
consciousness combined with a much
bigger selection of tasty low-fat items
in all categories has made low-fat
jce eream & very profitable item for
ice cream slore OWOETS.

The statement that best supports this
paragraph is

(4] low-fat ice cream is more profitable
to the store owner

B} customers were very selective in

49, Some sportspersons are rich, Some ane
arrogant. These imply that

[A) sportspersons are generally rich
and arrogant

(B) sportspersons are generally  poor
and arrogant

(C} all sportspersons are Arrogant
irrespective of whether they are
rich or poor

D) there are some sportspersons who
are rich, but notl arrogant

50. Death penalty 13 given only in rarest of
rare crimes in our country. Even then,
there is a strong demand for scrapping
this mode of punishment in & modern
soctety like ours, The main argument in
this direction is based on the fact that
several countries bave scrapped it
recently, This implics that

{A) death penalty does not EXIST
elsewhers

[B] many people get death penalty
every Vear in our country

{C) only our country awards death
penalty now

(b) many people feel that death
penalty is not a good method of
punishment

51. In a lecal train starting from station A,
the mumber of female passengers is half
the number of male passengers. At the
next station, 10 male passcngers leave
the train and 5 female passengers
board the train, which makes the
number of male and female passengers
equal. How many passengers entered
the local train at station A?

the past (A) 15
(C] customers are very selective now By 30
0] customers do not worry abeut the IC) 36
taste now (D 45
PrAJIT 2016/3-A 17 [B.T. Q.

DOWNLOADED FROM : WAW | ASEXAMPORTAL. COM Courtesy : MPPSC


http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

DOMNLOADED FROM : WA | ASEXAMPORTAL. COM

54.

PyAJII2016/2-A
LOADED FROM : WAV | ASEXAMPCORTAL. COM Courtesy :

ﬁﬂﬁﬁﬁﬂﬁqﬁqﬁmﬂnﬂmﬁm,
hﬂﬂgﬁl’gﬁoaﬁaﬁﬁaﬂmaﬂm
ﬁi‘l%mﬁﬁmﬁamﬁw:ﬂﬁlﬁﬁ_
i ) = g0 w g2n & fan o 40
anfer i e N wE] | T @ R,
ordl i T &,

TV

By 12

© 16

o 24

o 3 T ufwem o g O g FE

"ﬂmﬁgﬁdﬁuﬁ?ﬁrﬂﬂﬁﬂh”m
=11 1t T ofEEn = W A
|a) =T

(@) s

[C) T
(o) =i # # g A

ﬂﬁﬂ,m'«sﬂaﬁﬁﬁmﬁﬂmﬁmm
i TeE w0 om W R gEE P N,
A 4w W s e bR
ﬁlﬂﬁﬁrnﬂﬁmﬁﬁ,mﬁmﬁﬁ
ﬁﬂﬁﬂﬁmhmnﬁqmﬁﬁﬁmﬁﬁ
e T & B a3 AR S e
wwn & ) A T @ R

m wgelr = wed few W E A
ETER

) w1 T T e o

(B) URW TR F S F SgER
= ¢

(€ Wi ¥ W wwd oA
w7 T R

D) ¥ A m w1 e B FE A
airEn =W T

fdm (9 He 55 A 59} : famfain weE W ¥
el o W b ol vk A3 gl 1 A
ﬂwﬁ|ﬂﬂﬁmmﬁm1mmm#ﬁn
ﬁd-?ﬁqjﬂﬂmmmﬂmﬁﬁﬁﬂmﬁﬁﬁﬁﬁﬂﬂ
# o Tt I g

55, A
ﬁ-ﬁaﬁﬂﬁﬁamﬂmmmum
nﬂﬁznnzﬁﬁﬂianm@:
Tl 3 S

TEYE Lo
g § 75 o faem 4
‘{:f'EITl'mTI'I:
4y e 3 R Taeme @ uRE
=l T |

() e | s
(B e 1 e &
(c) 2§ e Tl §

(D) F5 ol e QT T B

56, T :

wedn gaE ¥ dge B oSeW
‘egew VWA FIYERA W RO 9D
e 7 R

ujunun]:
S 3 w=a F UEE H Al

TEaE AT
S 3 it ) il e A

(A g 1w g

(B) T (1w ¥

1cl ﬁﬁ@mﬂmm?ﬁi
(D ré off qumn warEe) T

15

MPPSC


http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

DOMNLOADED FROM : WA | ASEXAMPORTAL. COM

B2. A group of fricnds organized a party
and planned to spend ¥ 960 for total
expenses. Four of them could not make
it. Henee, the remaining people had
pay ® 40 per head to cover the
expenscs. The number of people who
attended the parly were was

A) 8
B 12
{C) 16
[y 24

53. John points out to & lady and says,
“She is the mother of his son's wile's
daughter.” How is the relation of the
lady with John?

|A] Uncie
[B] MNephew
(C] Daughter-in-law

None of the above

io)
54. These days almost all festivals have lost
their traditional fervour and enthusiasm,
The main reason for this is excessive
commercialization of such festivals.
Market forces dictate the way these
festivals are to be celebrated. The only
plus pomnt of this scenario is that many
of these festivals have surpassed their
original regional nature.

The statement that best supports this
paragraph s

(&) evervone celebrates festivals these

days

{B} most of the festivals are celebrated

reglon-wise

IC) mature of celebration has changed

over a period of time

(D) these days we celebrate many more

festivals compared to the past

PiASIL2016/2-A
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Directions (Question Nos. B5 to §9) : In each
of the guestions below, there is a statement
followed by two assumptions 1 and 1L
Consider the  statement and  given
assumptions, and decide which of them is
implicit in the given statement, Choose the
correct answer from the given altcrnatives.

55. Statementl
In one-day cricket match, the total
runs scored by a team were 200,
out of which 150 were made by
SPINNETs.

Assumption 1 !
The team had 753% spinners.
Assumption 11

Fast bowlers
spinners.

outperformed  the

1]

Assumption | iz strong

(B] Assumption Il is strong

(C) Both the assumptions are strong

(D] MNerther assumption is strong
56. Statement :

The ‘Swachh Bharat Campaign' led
by the honourable Prime Minister
has a great impact on the society.

Assumption | :

People understood the importance
of cleanliness,

Assumption I :
People across the country liked the

campaign
(&) Assumption | is strong
(B) Assumption 11 is strong
(C] Both the assumptions are sirong
(D) WNeither assumption is strong

[P.T.O
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ﬂﬂmﬁ,ﬁﬂ#m’l‘ﬁ%ﬁﬁtﬂmh

6l.

63.

64.

. fed o aw sifre-a § e

o) T # e : 167
) ol B 60
- wa 175
i & 199
Tas-T 191
e o o @ W ;62
et ifima @ U 48
e TARA -9 A T ¢ 532

(A} 15
B 21
(c) 30
D) 42

for BT e 0 o A A
(A) 152
(B) 144
(€} 61
(D) s6

fe o A A - v o fra A
om g
Al 210
(B) 203
(c) 170
o) 94

#mﬁmﬁﬁmuﬁﬁﬁmﬁEﬂi?
|A) 56
(B) 6l
(c) 152
(D) 162

ﬂgﬁ]ﬁmﬁ;ﬂt,ﬁ\m-ﬁ—ﬂﬁ
famm & e w0 RT

(A} 450

(B) 390

(C) 304

[y 167
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57. Statement :
Nowadays all departmental
stores do have surveillance video
monitoring cameras o eurb
stealing of items.
Assumption | :

People have general tendency to
steal things.

Assumption 1 @

Video monitoring  helps in
preventing theft.

(A) Assumption | 1% strong

(B] Assumption Il is strong

(C} Both the assumptions arc snOnNg

[} Meither assumption 18 Strong

58. Statement

All meticulous people find suitable
time to take rest. Raju, in spite of
hiz busy schedule, finds time Lo
take rest.

Assumption |
Raju is a meticulous person.

Asaumption 11 &
Raju is a hard-working persomn.

(&) Assumption | is strong

(B} Assumption 11 is strong

[C) Both the assumplions are sirong

() Neither assumption is strong

59, Statcment -

All women's organizations have
welcomed the new sexiial
harassment law,

Assumption [ :
Sexual harassment CIMES WERS
very few in the past.

Assumption 11 :

There is a new awareness about
sexual harassment in the society.

(A] Assumplion 1 13 sirong

(B] Assumpflion Il 15 Strong

{C) Both the assumptions are strong
[0} Meither assumption is strong

P/A1I/2016/2-A
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Directions ((uestion Nos. 60 to 64) : The data
on 450 students who gave an examination
in Physics, Mathematics and Chemistry in
Class X1 in & school is given below

Passed in all subjects : 167
Failed in all subjects ¢ BD
Failed in Physics : 175
Failed in Mathematics ;199
Failed in Chemistry : 191
Passed in Physics only : 62
Pagsed in Mathematics only @ 48
Passed in Chemistry only t 52

60. How many failed in Physics only?
(&) 15
| 21
i) 20
() a2

61, How many failed in one subject only?
[A) 152
By 144
] &l
(D) 56
§2. How many passed in Mathematics and
at least one more subject?
(&) 210
B 203
(C) 170
D) 94

63. How many failed in two subjects only?
(A} 36
{B) 6l
(C] 152
(D 162
64, How many passed in at least one
subject?
|A] 430
@ 390
(C) 304
) 167

[P.T.O.
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Directisna [Question Nos. 65 to 69) : There
are five persons P, B, Sand T. One is tennis
player, onc is chess player and one is hockey
plaver, P and S are unmarried women and do
not play any sport. None of the women playvs
cither chess or tennis, Among them there is a
married couple in which T is the husband.
2 is the brother of & and is neither a chess
plaver nor a hockey plaver.
65. Who is the tenms player?

A P
By o
i€} R

D s

66. Who is the hockey player?

Ay P
(B]
c) R

Dy =

67. Who is the cheas player?
0 R
6y @
icl R

o T

68. Who is the wife of T?
Ay £
B
cy R

o) s

P/A/}2016/2-A
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69, The three ladies are
iA) B QR
By . R 5
[C) P08
& PR S
T0. Rahul was four times as old as his son

f years ago. After B vears, Rahul will be
twice as old as his son. What are the
present ages of Rahul and his son?

A
(E)
Ic)
]

32 yearsa, 12 vears
40 years, 16 years
56 years, 22 years

h4 Years, 24 YEATS

Directions [Question Nos, T1 and 72) : Sec
the sequence of numbers below and answer
the following guestions.,
738
439
156
273
Bt 4
T1. Which of the fullowing will be the
second digit of the third number from
the top when they are arranged in the
descending order, after the first digit in
each number i3 changed to the next
highest digit?
{A] 2
B 3
<y 5
D 7

T2. Which of the following will be the last

digit of the second highest number,
after the positions of the digits in each
number are reversed?

4] 1
By 2
ic) 4
n)

=]

[P.T. O

Court esy

MPPSC


http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

DOMNLOADED FROM : WA | ASEXAMPORTAL. COM

73, 7% et § 97@ o ww § ok oS TEm (v He 76 3 7T) AW TR T o fw
o GeEn 28 o 40 f) g den 72 R, @ sn wfeE W AEUEEE SRR Siad A

Tt § = +n w1 G T R Fefafiam wet ¥ 3
Tgel BF WEH % 2wm, 3 fame (4 s B) §m
A) 16, 12 THEE o=t T = R A, wid faa 8 T
ufawra % wn § swf el R S o =0 6 g
#) 20,5 FE 1500 1 9% TEA F =t T A i s
B Er A ) w5 w0 FwEE T e A T
cy 24, 4 P
B} 14, 14 I (A B
gy |
1:2
74, 1iff 3 30% =% wW B R 15 A —1:
A B T e 3 40% % wmR fe e T8
M # F fou ses @ 8@ a5 Ahew 7:8
e e E o ufem B __7:9
(A} 28% T6. FEHET A g FEaf F dE A T oFE F
e, T WO T TR F e A= o i
B 33% =1 HEn = we e afiem By
(A} 75%
T} 35%
B} 90%
D) 42%
Ty 130%
D] 160%

7. s A FM i FH A oA T A A= A
agat Y ¥ e 2 R ] £ ﬁ
7. wall i od ® UEEr woE B 9=
TRi FE T e w8

(A} 45
[A) 3TO
(B] 46
(B 210
o e (C} 150
D) 48 (D 110
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73. In a cage, there are ducks and rabbits.
If the total number of heads is 28 and
that of fect is 72, how many ducks and
rabhits are mn the cage?

(A] 16, 12
(B 20,8
] 24, 4
D) 14, 14

T4. Rohit scored 30% marks and failed by

15 marks. Mohan scored 40% marks
and obtained 35 marks more than
those required to pass. The pass
percentage is

[A) 28B%

(B} 33%

[C) 35%

() 42%

T5. Ajay ranked Oth from the top and
38th from the bottom in a class
How many students are there in
the class?

{A] 45
[B) 46
[C] 47

(D 48
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Directions (Question Nos. 76 and T7) : Study
the following pie chart and table carefully to
answer the questions given below.

The pie chart shows percentage-wise

distrbution of the number of cars sold by
two distributors (A and B) together during
firat six months. The total number of cars
sold is 1500, The table shows the respective
ratic between

the number of cars sold

by company A and company B during
six months :

Month Rexlia M_ Li:|

Jamuary B:7

February 13

March 3:2

| Apnl T

| May T:8
| June 78 |

T6. The number of cars sold by company A
during January is approximately what
percent of the number of cars sold
during June by the same company?
[A) 75%

(B] 90%
(C] 130%
(D 160%

T7. What is the total number of cars sold by
company B during February and March
together?

() 370
(B) 210
(C) 150
oy 110
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T8.

To.

B1.

T e W Trelaten s #fie sy 8
&1 = & fanwik seraey s 6 T T
=1 et R

TR = 9, I A A e
3 @ WA

TR T W R
A) 64

{3 27

ic] 8

2 216

wa Pl @ w wen mn v wwhen &
w A vew w20 a6 = WA B
HafE TiE w10 93w e 5w =h
3 120 T4 =) v off a2 oo
wier] e diF 60 =da uft B el
T g0 S F fom feer gedt = b &
W T T iR ?

4 1

(B} 3

C] 6

D) 12

. IR A+B=C+D 3t A+D>BsC ™

= 3 A 9 -w weem FiTem w9 @ em 27
Ay A=H
B A=C
€y =D
D] B>D

i =fwal 1 slmm a9 140 Fe T ¥ 30
A = % gww W osETm 1:2:4 B
e wrl) =5 1w (e me #) wn AP
(A) 140
B 120
() 60
(D) 240
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78. The fllowing opcrations are carried
out sequentially on A number o yield
the same starling number :

Firat divide by two, then take square
root and finally take the cube

What is this number?
1A) 64

By 27

C} &

o 216

79. In a workshop, it i observed that in a
day cach woman can make 20 pots
while each man can make 10 pols.
A total of exactly 120 pols need to be
made in a day. It is also required that
the all women together should ‘malke
exactly 60 pots in a day. The number of
meft o be employed in the workshop to
achieve the above 1s

(A} 1
B 2
[C] &
Dy 12
BO. WA+B=C+Dand A+D> B+C, then

which one of the following is definitely
Wrongr

A A=R
B A>C
C) C>D
y BE>D

B1. The averape weight of three persons is
equal to 140 kg, The ratio of these three

persons' weights is 1: 2: 4. What is the
weight [in kg] of the heaviest person?

(A) 140
(B} 120
c) 60
D) 240
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Directlons : (Jucstion Nos. B2 to 84) If letters
from A to M were writien, leaving space for
one letter between every two letters, and then
the remaining letters were inserted beginning
with N and ending the series with £ afier M,
answer the following questions,

B2. Which letter would be third to the right
of the seventh letter from the left?

[A) C
B3 o
C] R
D) 5§
83. Which letter will be exactlyv between [
and K?
{A] B
B T
c) v
o w
84. Which letter would be exacily in the
middle of the 18th letter from the

beginning and the 15th letter from the
end?

A) G

iB) H

(c) J

o L

85. Choose the best alternative as the

HAMSWET,

Atmosphere always has

(A) oxygen

(B} air

IC) perms

D) dust
| P70
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(o ¥4

i 3 FrE EE F s
H, #
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